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1.  The parametric curve
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3.  The length of the parametric curve
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5.  The graph of the polar equation

s, o (FO ARG

r = 2(cos(#) — sin(A)) i
is a circle with X *34' P = 2ot 13/
e y 4\) = 2.
(a) -/ center (1, —1) and radius v/2 (K = \) & L )
(b)  center (—1,1)and radius v/2 - )
(¢)  center(1,1)and radius v/2 em¥s
(d)  center (—1,—1)and radius v/2 ,/q_;lf% ﬁ’
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6. The slope of the tangent line to the curve
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7. The length of the polar curve
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8. The area of the region bounded by the circle 7 = 2sin{#) for — < @ < g
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9.

10.

Let C be the circle of intersection between the sphere
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and the. If the radius of this circle is 2, then one of the following

is a possible center for C' : -
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The vector ¥ in the zy-plane with length 2 and making an angle of % with

the positive z-axis is:
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11.  If the vector ¥ = (k,k + 1) is parallel to the tangent line of the curve of
y =1+ z +sin(z) at the point (0, 1), then the value of k is
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13.  If # is the angle between the diagonal of the unit cube (in the first octant
with one corner at the origin and three edges along the coordinate axes)
and one of these edges, then the value of cos(f) is
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14.  The area of the triangle whose vertices are
P(0,-1,1), Q(-1,1,2) and R(2,1,-1) is
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15. A parallelepiped has adjacent sides PQ, PR and PS
where P(2,1,-1), Q(3,0,2), R(4,—2,1) and S(5,c,0).
If the volume of this parallelepiped is 4, then the sum of all possible values
of ¢ is
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16. The parametric curve

T = 2t — wsin(t), y = 2 — 7 cos(t), t € [—m, ]

has at the point (0, 2) Obj A/" ﬂ Gm ﬁﬁ
/' s
@/ two slant tangents ¢ ’ d‘r (correct)

(b)  one horizontal tangent
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d) only one slant tangent with positive slope

c) one vertical tangent

(e)  only one slant tangent with negative slope
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17.  The area of the region that lies inside both circles r = 1 and(a.: 2 sin(#)\
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19.  The graph of the parametric curve
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(a) / a straight line with slope —1 2 A = ! - ( 4 ’D i)
(b) a parabola ; l ;} y 4 }
(¢) a straight line with slope 2
(d) acircle Yy = Q, =R
(e) a hyperbola
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20. If a vector ¥ has direction angles o = 1 with the positive z-axis and 3 =
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with the positive y-axis, then the set of all possible values of the angle
between v and the positive z-axis is
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